‘ En E w Multipliziere Dezimalzahlen mit negativen
o] Zehnerpotenzen

Name: Datum: Ergebnis:
1374,9 x 0.001 = 8684, 1 % 0.001 =
1306, 6 x 0.0001 = 1569,5 % 0.01 =
7182 x 0.01 = 1764 x 0.01 =
4813,1x0.01 = 4903,9 x 0.001 =
4213,9 % 0.0001 = 4143,5 % 0.001 =
3600,4 < 0.01 = 8993, 6 x 0.0001 =
8837,8 x 0.0001 = 5187,1x0.01 =
9779,1 % 0.1 = 3879, 8 x 0.0001 =
4072,1x0.01 = 2762,4 x0.001 =
7188,5x 0.1 = 4715,9 % 0.001 =
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Multipliziere Dezimalzahlen mit negativen

Zehnerpotenzen

Name:

1374,9 x 0.001 = 1.3749

1306, 6 x 0.0001 = 0.13066

7182 x0.01 = 71.82

4813, 1 x0.01 =48.131

4213,9 % 0.0001 = 0.42139

3600, 4 x 0.01 = 36.004

8837,8 x 0.0001 = 0.88378

9779,1x0.1 =977.91

4072, 1 x0.01 =40.721

7188,5x 0.1 =718.85

Datum:

8684, 1 x 0.001 = 8.6841

1569,5 x0.01 = 15.695

1764 x 0.01 = 17.64

4903,9 x 0.001 = 4.9039

4143,5 x0.001 = 4.1435

8993, 6 x 0.0001 = 0.89936

5187,1x0.01 =51.871

3879, 8 x 0.0001 = 0.38798

2762,4 x 0.001 = 2.7624

4715,9 x 0.001 =4.7159
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Ergebnis:
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